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4x+ 3y +z=2
3x+ 9y +z=4
x+ 18y + 3z =4

4 + 2,5y +z=2
3x+4y+z=4
x+10y +3z=4

4 + 2,5y +z=2
-X+4y+z=4
4x + 10y + 3z=4
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-“Ax +3y+z=2
-X-y+z=4
-ox+8y =4

-“4x+3y+z=0
-Xx-y+z=0
-9x+8y =8

“4Ax+3y+z=0
-X-y+z=0
-Ox+4y =8

LGS mit drei Variablen

LGS mit drei Variablen

LGS mit drei Variablen

4x+2y+z=0
-X-y+z=0
-Ox+4y =8

-O9x +4y + 12z =8

-Ox +4y + 12z =8
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4x +6z=3
3x+y+z=12
-OX +4y + 122 =15

2x-y+z=1

-3x+y+z=0

-OX +4y + 122 =15

4k + 2y + 2 =12
-X+2y+4z=38
X+2y+z=15
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4x + 2y + 2z =12
-X+2y+4z=3
X+2y+2z=9

4x + 2y + z=12
-X+2y+4z=3
X-2y+2z2=9

4x + 2y +z=12
-X+2y-4z=3
X-2y+2z2=9




X=-16
y =-52
z=196

x =-20
y =16
z=-13

X =-24
y =20
z=-16

x=3

y=-1
z=2



	LGS

